

Various new traveling wave solutions for conformable time-fractional Sasa-Satsuma equation

Medjahed Djilali, Khellaf Ould Melha and Vaijanath L. Chinchane

Abstract. In this paper, the extended Jacobi elliptic function expansion method is applied to conformable time-fractional Sasa-Satsuma equation. Variety of new traveling wave solutions are constructed. Thanks to the *Mathematica* software package, to interpret the behivor of some particular exact solutions, surfaces and contour plots are ploted.

Keywords. Fractional derivative, Sasa-Satsuma equation, Jacobi elliptic function, traveling wave solution.

1 Introduction

Recently, a wide variety of analytic and approximate solution methods have been developed to construct exact solutions of nonlinear partial differential equations (PDEs) and in particular the Sasa-Satsuma equation, such as extended equation method (ETEM) and generalized Kudryashov method [4], new auxiliary method [15], bilinear forms method [19], the direct integration [22], Darboux transformation method [27, 28, 35], modified simple equation approach [31], trial equation approach [32], Painlevé -Bäcklund transformation [34] and many others [11, 12, 26, 29, 33]. In this work, the conformable time-fractional Sasa-Satsuma equation, which reads

$$i\frac{\partial^{\alpha}u(x,t)}{\partial t^{\alpha}} + \frac{1}{2}\frac{\partial^{2}u(x,t)}{\partial x^{2}} + u(x,t)|u(x,t)|^{2} + i\epsilon\left(\frac{\partial^{3}u(x,t)}{\partial x^{3}} + 6|\psi(x,t)|^{2}\frac{\partial u(x,t)}{\partial x} + 3u(x,t)\frac{\partial|u(x,t)|^{2}}{\partial x}\right) = 0.$$

is investigated using the extended Jacobi elliptic function expansion method [30, 36]. Because of the generalized properties of the Jacobi elliptic functions, the double periodic and other solutions of conformable fractional Sasa-Satsuma equation have been obtained. We point that in the case $\alpha = 1$, this model governs the interaction and propagation of the ultrashort pulses in the subpicosecond or femtosecond regime as well as the propagation of femtosecond pulses in optical fibers [32].

Received date: July 9, 2023; Published online: November 30, 2023. 2010 *Mathematics Subject Classification*. 83C15, 35C07, 47J35, 26A33. Corresponding author: Vaijanath L. Chinchane.

2 Preliminaries

2.1 The conformable fractional derivative

In literature, to investigate the exact solutions for fractional PDEs, the authors use many forms of fractional derivative, in particular, Riemann Liouville, Jumarie's modified Riemann-Liouville and Caputo derivatives [2, 5, 6, 7, 8, 16, 23].

In 2014, a new definition of fractional derivative is presented by R. Khalil, *et al.* [17]. Now let us give the definition and some properties of conformable fractional derivative [1, 3, 9, 10, 13, 14, 18, 20, 21, 24, 25].

Definition 1. [17] Let $f : [0, +\infty) \to \mathbb{R}$ be a function. α^{th} order "conformable fractional derivative" of f is defined by

$$D_{\alpha}(f)(t) = \lim_{\epsilon \to 0} \frac{f(t + \epsilon t^{1-\alpha}) - f(t)}{\epsilon}$$
(2.1)

for all $t > 0, \alpha \in (0, 1)$. If f is α -differentiable in some (0, a), a > 0 and $\lim_{t \to 0^+} f^{(\alpha)}(t)$ exists, then define $f^{(\alpha)}(0) = \lim_{t \to 0^+} f^{(\alpha)}(t)$.

Definition 2. [17] The conformable fractional integral of a function $f : [0,t] \to \mathbb{R}$ of order $0 < \alpha < 1$ is defined by

$$I^{\alpha}(f)(t) = \int_0^t s^{\alpha - 1} f(s) \, ds.$$
(2.2)

This new definitions satisfies the properties which are given in the following theorems.

Theorem 2.1. [17] Let $\alpha \in (0,1]$ and $f, g \alpha$ -differentiable at point t > 0. then

- 1. $D^{\alpha}(cf + dg) = cD^{\alpha}(f) + dD^{\alpha}(g)$ for all $c, d \in \mathbb{R}$.
- 2. $D^{\alpha}(t^p) = pt^{p-\alpha}, \quad \forall p \in \mathbb{R}.$
- 3. $D^{\alpha}(\lambda) = 0$ for all constant function $f(t) = \lambda$.

4.
$$D^{\alpha}(f(t)g(t)) = f(t)D^{\alpha}g(t) + g(t)D^{\alpha}f(t)$$

5. $D^{\alpha}_{t}(\frac{f}{g})(t) = \frac{g(t)D^{\alpha}f(t) - f(t)D^{\alpha}g(t)}{g(t)^{2}}$

6. If , in addition to f is differentiable, then
$$D_t^{\alpha}(f)(t) = t^{1-\alpha}f'(t)$$
.

7.
$$D_t^{\alpha}(I^{\alpha}f(t)) = f(t)$$

8. $I_t^{\alpha}(D_t^{\alpha}f(t)) = f(t) - f(0)$ on the interval [0, t].

Theorem 2.2. [13] Suppose $f : (0, \infty) \to \mathbb{R}$ be a function such that f is differentiable and also α -differentiable. Let g be a function defined in the range of f and also differentiable. Then

$$D_t^{\alpha}(fog)(t) = t^{1-\alpha}g'(t)f'(g(t)).$$

Remark 1. The use of the transformation $\tau = \frac{\omega t^{\alpha}}{\alpha}$, by use of (2) one can obtain $D_t^{\alpha} \tau = \omega$. Furthermore, by use of (2.2) one can deduce that $D_t^{\alpha} u = u_{\tau}' D_t^{\alpha} \tau = \omega u_{\tau}'$.

2.2 Summary of the extended Jacobi elliptic function expansion method

The general time-fractional nonlinear evolution equation, say in two independent variables x and t, is given by

$$P(u, D_t^{\alpha} u, u_x, D_{tt}^{2\alpha} u, u_{xx}, D_t^{\alpha} u_x, \ldots) = 0,$$
(2.3)

where $0 < \alpha \leq 1$, u = u(x, t) is an unknown function and P is a polynomial of u and its partial fractional derivatives, in which the nonlinear terms and the highest order derivatives are included. To find the traveling wave solution of Eq. (2.3) by the extended Jacobi elliptic function expansion method, we follow the following steps:

• Step 1: To obtain exact traveling wave solution, the following fractional complex transformation [2]has been applied

$$u(x,t) = U(\xi)e^{i\theta}, \ \xi = ik(x - \omega\frac{t^{\alpha}}{\alpha}), \ \theta = \lambda x + \mu\frac{t^{\alpha}}{\alpha},$$
(2.4)

where k, ω, λ and μ are constants to be discussed latter. Then, the Eq. (2.3) is reduced to the following nonlinear ordinary differential equation

$$P(U, -\omega U', kU', \omega^2 U'', k^2 U'', -k\omega U'', \lambda U, \mu U, \ldots) = 0, \qquad (2.5)$$

where $U^{(i)} = U_{i\xi}$.

• Step 2: Assuming that the solution of Eq. (2.5) can be expressed as a finite power series of the following form

$$U(\xi) = a_0 + \sum_{j=1}^{N} f_i^{j-1}(\xi) \left[a_j f_i(\xi) + b_j g_i(\xi) \right], \quad i = 1, 2, 3, 4$$
(2.6)

with

$$f_{1}(\xi) = \operatorname{sn}(\xi|m), \quad g_{1}(\xi) = \operatorname{cn}(\xi|m), f_{2}(\xi) = \operatorname{sn}(\xi|m), \quad g_{2}(\xi) = \operatorname{dn}(\xi|m), f_{3}(\xi) = \operatorname{sc}(\xi|m), \quad g_{3}(\xi) = \operatorname{cs}(\xi|m), f_{4}(\xi) = \operatorname{sd}(\xi|m), \quad g_{4}(\xi) = \operatorname{ds}(\xi|m),$$
(2.7)

where $\operatorname{sc}(\xi|m) = \frac{\operatorname{sn}(\xi|m)}{\operatorname{cn}(\xi|m)}$, $\operatorname{cs}(\xi|m) = \frac{\operatorname{cn}(\xi|m)}{\operatorname{sn}(\xi|m)}$, $\operatorname{sd}(\xi|m) = \frac{\operatorname{sn}(\xi|m)}{\operatorname{dn}(\xi|m)}$, $\operatorname{ds}(\xi|m) = \frac{\operatorname{dn}(\xi|m)}{\operatorname{sn}(\xi|m)}$ and *m* is a modulus satisfies 0 < m < 1. Here, $\operatorname{sn}(\xi|m)$, $\operatorname{cn}(\xi|m)$ and $\operatorname{dn}(\xi|m)$ are Jacobi elliptic functions, which are double periodic and possess the following properties:

1. Properties of triangular function:

$$sn(\xi|m)^{2} = 1 - cn(\xi|m)^{2},$$

$$dn(\xi|m)^{2} = 1 - m.sn(\xi|m)^{2} = 1 - m + m.cn(\xi|m)^{2}$$
(2.8)

2. Derivatives of the Jacobi elliptic functions:

$$\frac{\partial \operatorname{sn}(\xi|m)}{\partial \xi} = \operatorname{cn}(\xi|m).\operatorname{dn}(\xi|m),$$

$$\frac{\partial \operatorname{cn}(\xi|m)}{\partial \xi} = -\operatorname{dn}(\xi|m).(\operatorname{sn})(\xi|m),$$

$$\frac{\partial \operatorname{dn}(\xi|m)}{\partial \xi} = -m.\operatorname{sn}(\xi|m).\operatorname{cn}(\xi|m),$$
(2.9)

3. Some limits: we have

$$\begin{split} \lim_{m \to 1} (\operatorname{cn}(\xi|m)) &= \operatorname{sech}(\xi), \ \lim_{m \to 0} (\operatorname{cn}(\xi|m)) = \operatorname{cos}(\xi), \\ \lim_{m \to 1} (\operatorname{sn}(\xi|m)) &= \operatorname{tanh}(\xi), \ \lim_{m \to 0} (\operatorname{sn}(\xi|m)) = \operatorname{sin}(\xi), \\ \lim_{m \to 1} (\operatorname{dn}(\xi|m)) &= \operatorname{sech}(\xi), \\ \lim_{m \to 1} (\operatorname{sc}(\xi|m)) &= \operatorname{sinh}(\xi), \ \lim_{m \to 0} (\operatorname{sc}(\xi|m)) = \operatorname{tan}(\xi), \\ \lim_{m \to 1} (\operatorname{cs}(\xi|m)) &= \operatorname{csch}(\xi), \ \lim_{m \to 0} (\operatorname{cs}(\xi|m)) = \operatorname{cot}(\xi), \\ \lim_{m \to 1} (\operatorname{sd}(\xi|m)) &= \operatorname{sinh}(\xi), \ \lim_{m \to 0} (\operatorname{sd}(\xi|m)) = \operatorname{sin}(\xi), \\ \lim_{m \to 1} (\operatorname{ds}(\xi|m)) &= \operatorname{csch}(\xi), \ \lim_{m \to 0} (\operatorname{ds}(\xi|m)) = \operatorname{csc}(\xi). \end{split}$$
(2.10)

• Step 3: The degree N of the power series (2.6) is determined by considering the homogeneous balance between the nonlinear term in Eq. (2.5) and the highest-order derivative. We define the degree of $U(\xi)$ is $D[U(\xi)] = N$, which gives rise to the degree of other expressions as, for example,

$$D\left[\frac{\partial^{\beta}U\xi}{\partial\xi^{\beta}}\right] = \beta + N, D\left[\left(\frac{\partial^{\beta}U(\xi)}{\partial\xi^{\beta}}\right)^{q}\right] = q(\beta + N)$$
(2.11)

and

$$D\left[U^{p}(\xi)\left(\frac{\partial^{\beta}U(\xi)}{\partial\xi^{\beta}}\right)^{q}\right] = Np + q(\beta + N).$$
(2.12)

- Step 4: Substituting Eqs. (2.6)-(2.7) using (2.8)-(2.9) into Eq.(2.5). Then collecting the coefficients of like powers of $\operatorname{cn}(\xi|m)^{\kappa}\operatorname{sn}(\xi|m)^{\ell}$, $\operatorname{dn}(\xi|m)^{\kappa}\operatorname{sn}(\xi|m)^{\ell}$ where $\kappa = 0, 1; \ell = 0, 1, 2, 3 \dots n$. By setting them to zero, we get a system of algebraic equations, and solving the over-determined system of nonlinear algebraic equations by use of *Mathematica* software package, we would end up with explicit expressions for $k, \omega, a_j, b_j, (j = 0, 1, 2, \dots, N)$.
- Step 5: Finally, substitute the values of k, ω, a_j, b_j into (2.6), we obtain the exact traveling wave solutions of the fractional nonlinear evolution equation (2.5).

3 Application of the method to the Conformable Timefractional Sasa-Satsuma equation

Let's consider (CTFSSE) in the form

$$iD_t^{\alpha}u + \frac{1}{2}u_{2x} + u|u|^2 + i\epsilon \left(u_{3x} + 6|u|^2 u_x + 3u(|u|^2)_x\right) = 0, \qquad (3.1)$$

where $0 < \alpha \leq 1$ and ϵ is an arbitrary constant.

Using the fractional complex transformation (2.4), the (CTFSSE) (3.1) is converted to the nonlinear ODE

$$-k^{2}\left(\frac{1}{2}-3\lambda\epsilon\right)U''-12k\epsilon U^{2}U'+k\left(-\lambda+\omega+3\lambda^{2}\epsilon\right)U'$$

$$+\lambda^{3}\epsilon U^{(3)}+\left(-\frac{\lambda^{2}}{2}-\mu+\lambda^{3}\epsilon\right)U+(1-6\lambda\epsilon)U^{3}=0$$
(3.2)

Balancing $U^{(3)}$ with U^2U' gives N + 3 = 3 N + 1, hence N = 1. We then suppose that (3.2) has the following formal solutions:

- 1st approach: $U(\xi) = a_0 + a_1 \operatorname{sn}(\xi|m) + b_1 \operatorname{cn}(\xi|m)$,
- 2nd approach: $U(\xi) = a_0 + a_1 \operatorname{sn}(\xi|m) + b_1 \operatorname{dn}(\xi|m)$,
- 3th approach: $U(\xi) = a_0 + a_1 \operatorname{sc}(\xi|m) + b_1 \operatorname{cs}(\xi|m)$,
- 5th approach: $U(\xi) = a_0 + a_1 sd(\xi|m) + b_1 ds(\xi|m)$
- 1. Using 1st approach: Proceeding as above (Step 4) yields a set of overdetermined algebraic equations with respect to $a_0, a_1, b_1, k, \omega, \lambda, \mu$

$$\begin{aligned} &-18a_0b_1^2\lambda\epsilon + 3a_0b_1^2 - \frac{a_0\lambda^2}{2} - a_0\mu + a_0\lambda^3\epsilon - 6a_0^3\lambda\epsilon + a_0^3 = 0, \\ &-18a_1b_1^2\lambda\epsilon + 3a_1b_1^2 - 3a_1k^2\lambda m\epsilon + \frac{1}{2}a_1k^2m - 3a_1k^2\lambda\epsilon - \frac{a_1\lambda^2}{2} \\ &+ \frac{a_1k^2}{2} - a_1\mu + a_1\lambda^3\epsilon - 18a_0^2a_1\lambda\epsilon + 3a_0^2a_1 = 0, \\ &-18a_0^2b_1\lambda\epsilon + 3a_0^2b_1 - 3b_1k^2\lambda\epsilon - \frac{b_1\lambda^2}{2} + \frac{b_1k^2}{2} - b_1\mu + b_1\lambda^3\epsilon - 6b_1^3\lambda\epsilon + b_1^3 = 0, \\ &-24a_0a_1b_1k\epsilon = 0, \\ &18a_0b_1^2\lambda\epsilon - 3a_0b_1^2 - 18a_0a_1^2\lambda\epsilon + 3a_0a_1^2 = 0, \\ &18a_0b_1^2\lambda\epsilon - 3a_1b_1^2 + 6a_1k^2\lambda m\epsilon - a_1k^2m - 6a_1^3\lambda\epsilon + a_1^3 = 0, \\ &-12a_1b_1^2k\epsilon - a_1k\lambda + a_1k\omega + 3a_1k\lambda^2\epsilon - 12a_0^2a_1k\epsilon + a_1\lambda^3(-m)\epsilon - a_1\lambda^3\epsilon = 0, \\ &12a_0^2b_1k\epsilon - 24a_1^2b_1k\epsilon + b_1k\lambda - b_1k\omega - 3b_1k\lambda^2\epsilon + 12b_1^3k\epsilon + 4b_1\lambda^3m\epsilon + b_1\lambda^3\epsilon = 0, \\ &6a_0a_1b_1 - 36a_0a_1b_1\lambda\epsilon = 0, \\ &-18a_1^2b_1\lambda\epsilon + 3a_1^2b_1 + 6b_1k^2\lambda m\epsilon - b_1k^2m + 6b_1^3\lambda\epsilon - b_1^3 = 0, \\ &48a_0a_1b_1k\epsilon = 0, \\ &36a_1^2b_1k\epsilon - 12b_1^3k\epsilon - 6b_1\lambda^3m\epsilon = 0, \\ &24a_0b_1^2k\epsilon - 24a_0a_1^2k\epsilon = 0, \\ &36a_1b_1^2k\epsilon - 12a_1^3k\epsilon + 6a_1\lambda^3m\epsilon = 0. \end{aligned}$$

By using *Mathematica* to solve the overdetermined algebraic equations, we get the following results:

$$\begin{cases} a_{0} \to 0, a_{1} \to \pm \frac{\sqrt{2m}}{12\epsilon}, b_{1} \to 0, k \to \frac{1}{6\epsilon}, \lambda \to \frac{1}{6\epsilon}, \omega \to \frac{m+4}{36\epsilon}, \mu \to -\frac{1}{108\epsilon^{2}} \end{cases}, \\ \left\{ a_{0} \to 0, a_{1} \to 0, b_{1} \to \pm \frac{i\sqrt{2m}}{12\epsilon}, k \to \frac{1}{6\epsilon}, \lambda \to \frac{1}{6\epsilon}, \omega \to \frac{4-2m}{36\epsilon}, \mu \to -\frac{1}{108\epsilon^{2}} \right\}, \\ \left\{ a_{0} \to 0, a_{1} \to \pm \frac{\sqrt{2m}}{24\epsilon}, b_{1} \to \pm \frac{i\sqrt{2m}}{24\epsilon}, k \to \frac{1}{6\epsilon}, \lambda \to \frac{1}{6\epsilon}, \omega \to \frac{8-m}{72\epsilon}, \mu \to -\frac{1}{108\epsilon^{2}} \right\}, \\ \left\{ a_{0} \to 0, a_{1} \to \pm \frac{\sqrt{2m}}{24\epsilon}, b_{1} \to \pm \frac{i\sqrt{2m}}{24\epsilon}, k \to \frac{1}{6\epsilon}, \lambda \to \frac{1}{6\epsilon}, \omega \to \frac{8-m}{72\epsilon}, \mu \to -\frac{1}{108\epsilon^{2}} \right\}, \end{cases}$$

$$\left\{ a_{0} \to 0, a_{1} \to \pm \frac{\sqrt{2m}}{24\epsilon}, b_{1} \to \pm \frac{i\sqrt{2m}}{24\epsilon}, k \to \frac{1}{6\epsilon}, \lambda \to \frac{1}{6\epsilon}, \omega \to \frac{8-m}{72\epsilon}, \mu \to -\frac{1}{108\epsilon^{2}} \right\}.$$

$$\left\{ a_{0} \to 0, a_{1} \to \pm \frac{\sqrt{2m}}{24\epsilon}, b_{1} \to \pm \frac{i\sqrt{2m}}{24\epsilon}, k \to \frac{1}{6\epsilon}, \lambda \to \frac{1}{6\epsilon}, \omega \to \frac{8-m}{72\epsilon}, \mu \to -\frac{1}{108\epsilon^{2}} \right\}.$$

$$\left\{ a_{0} \to 0, a_{1} \to \pm \frac{\sqrt{2m}}{24\epsilon}, b_{1} \to \pm \frac{i\sqrt{2m}}{24\epsilon}, k \to \frac{1}{6\epsilon}, \lambda \to \frac{1}{6\epsilon}, \omega \to \frac{8-m}{72\epsilon}, \mu \to -\frac{1}{108\epsilon^{2}} \right\}.$$

$$\left\{ a_{0} \to 0, a_{1} \to \pm \frac{\sqrt{2m}}{24\epsilon}, b_{1} \to \pm \frac{i\sqrt{2m}}{24\epsilon}, k \to \frac{1}{6\epsilon}, \lambda \to \frac{1}{6\epsilon}, \omega \to \frac{8-m}{72\epsilon}, \mu \to -\frac{1}{108\epsilon^{2}} \right\}.$$

$$\left\{ a_{0} \to 0, a_{1} \to \pm \frac{\sqrt{2m}}{24\epsilon}, b_{1} \to \pm \frac{i\sqrt{2m}}{24\epsilon}, k \to \frac{1}{6\epsilon}, \lambda \to \frac{1}{6\epsilon}, \omega \to \frac{8-m}{72\epsilon}, \mu \to -\frac{1}{108\epsilon^{2}} \right\}.$$

$$\left\{ a_{0} \to 0, a_{1} \to \pm \frac{\sqrt{2m}}{24\epsilon}, b_{1} \to \pm \frac{\sqrt{2m}}{24\epsilon}, k \to \frac{1}{6\epsilon}, \lambda \to \frac{1}{6\epsilon}, \omega \to \frac{8-m}{72\epsilon}, \mu \to -\frac{1}{108\epsilon^{2}} \right\}.$$

$$\left\{ a_{0} \to 0, a_{1} \to \pm \frac{\sqrt{2m}}{24\epsilon}, b_{1} \to \pm \frac{\sqrt{2m}}{24\epsilon}, k \to \frac{1}{6\epsilon}, \lambda \to \frac{1}{6\epsilon}, \omega \to \frac{8-m}{72\epsilon}, \mu \to -\frac{1}{108\epsilon^{2}} \right\}.$$

So we obtain the following elliptic traveling wave solutions (double periodic solutions) of EQ. (3.1)

$$u_{(1,1,2)} = \pm \frac{\sqrt{2m}}{12\epsilon} \operatorname{sn}\left(\left.\frac{i}{6\epsilon} \left(x - \frac{(m+4)t^{\alpha}}{36\epsilon\alpha}\right)\right|m\right) e^{i\left(\frac{x}{6\epsilon} - \frac{t^{\alpha}}{108\epsilon^{2}\alpha}\right)},\tag{3.5}$$

$$u_{(1,3,4)} = \pm \frac{i\sqrt{2m}}{12\epsilon} \operatorname{cn}\left(\left.\frac{i}{6\epsilon} \left(x - \frac{(4-2m)t^{\alpha}}{36\epsilon\alpha}\right)\right|m\right) e^{i\left(\frac{x}{6\epsilon} - \frac{t^{\alpha}}{108\epsilon^{2}\alpha}\right)},\qquad(3.6)$$

$$u_{(1,5,6)} = \begin{cases} \pm \frac{\sqrt{2m}}{24\epsilon} \operatorname{sn}\left(\frac{i}{6\epsilon} \left(x - \frac{(8-m)t^{\alpha}}{72\epsilon\alpha}\right) \middle| m\right) \\ \pm \frac{i\sqrt{2m}}{24\epsilon} \operatorname{cn}\left(\frac{i}{6\epsilon} \left(x - \frac{(8-m)t^{\alpha}}{72\epsilon\alpha}\right) \middle| m\right) \end{cases} \begin{cases} e^{i\left(\frac{x}{6\epsilon} - \frac{t^{\alpha}}{108\epsilon^{2}\alpha}\right)}, \quad (3.7) \end{cases}$$

$$u_{(1,7,8)} = \begin{cases} \pm \frac{\sqrt{2m}}{24\epsilon} \operatorname{sn}\left(\frac{i}{6\epsilon} \left(x - \frac{(8-m)t^{\alpha}}{72\epsilon\alpha}\right) \middle| m\right) \\ \mp \frac{i\sqrt{2m}}{24\epsilon} \operatorname{cn}\left(\frac{i}{6\epsilon} \left(x - \frac{(8-m)t^{\alpha}}{72\epsilon\alpha}\right) \middle| m\right) \end{cases} \begin{cases} e^{i\left(\frac{x}{6\epsilon} - \frac{t^{\alpha}}{108\epsilon^{2}\alpha}\right)}. \end{cases} (3.8) \end{cases}$$

In particular, if $m \to 1,$ then we get the hyperbolic function solutions (solitary wave solutions) of Eq.(3.1)

$$u_{(1,1,2)} = \pm \frac{\sqrt{2}}{12\epsilon} \tanh\left(\frac{i}{6\epsilon} \left(x - \frac{5t^{\alpha}}{36\epsilon\alpha}\right)\right) e^{i\left(\frac{x}{6\epsilon} - \frac{t^{\alpha}}{108\epsilon^{2}\alpha}\right)},\tag{3.9}$$

$$u_{(1,3,4)} = \pm \frac{i\sqrt{2}}{12\epsilon} \operatorname{sech}\left(\frac{i}{6\epsilon} \left(x - \frac{t^{\alpha}}{18\epsilon\alpha}\right)\right) e^{i\left(\frac{x}{6\epsilon} - \frac{t^{\alpha}}{108\epsilon^{2}\alpha}\right)}, \quad (3.10)$$

$$u_{(1,5,6)} = \begin{cases} \pm \frac{\sqrt{2}}{24\epsilon} \tanh\left(\frac{i}{6\epsilon}\left(x - \frac{7t^{\alpha}}{72\epsilon\alpha}\right)\right) \\ \pm \frac{i\sqrt{2}}{24\epsilon} \operatorname{sech}\left(\frac{i}{6\epsilon}\left(x - \frac{7t^{\alpha}}{72\epsilon\alpha}\right)\right) \end{cases} e^{i\left(\frac{x}{6\epsilon} - \frac{t^{\alpha}}{108\epsilon^{2}\alpha}\right)}, \quad (3.11)$$

$$u_{(1,7,8)} = \begin{cases} \pm \frac{\sqrt{2}}{24\epsilon} \tanh\left(\frac{i}{6\epsilon}\left(x - \frac{7t^{\alpha}}{72\epsilon\alpha}\right)\right) \\ \mp \frac{i\sqrt{2}}{24\epsilon} \operatorname{sech}\left(\frac{i}{6\epsilon}\left(x - \frac{7t^{\alpha}}{72\epsilon\alpha}\right)\right) \end{cases} e^{i\left(\frac{x}{6\epsilon} - \frac{t^{\alpha}}{108\epsilon^{2}\alpha}\right)}. \tag{3.12}$$

2. Using 2nd approach: with the same process as above the following system of algebraic

equations are obtained

$$\begin{aligned} &-18a_0b_1^2\lambda\epsilon + 3a_0b_1^2 - \frac{a_0\lambda^2}{2} - a_0\mu + a_0\lambda^3\epsilon - 6a_0^3\lambda\epsilon + a_0^3 = 0, \\ &-12a_1b_1^2k\epsilon - a_1k\lambda + a_1k\omega + 3a_1k\lambda^2\epsilon - 12a_0^2a_1k\epsilon + a_1\lambda^3(-m)\epsilon - a_1\lambda^3\epsilon = 0, \\ &-18a_1b_1^2\lambda\epsilon + 3a_1b_1^2 - 3a_1k^2\lambda m\epsilon + \frac{1}{2}a_1k^2m - 3a_1k^2\lambda\epsilon - \frac{a_1\lambda^2}{2} + \frac{a_1k^2}{2} - a_1\mu \\ &+ a_1\lambda^3\epsilon - 18a_0^2a_1\lambda\epsilon + 3a_0^2a_1 = 0, \\ &36a_1b_1^2km\epsilon - 12a_1^3k\epsilon + +6a_1\lambda^3m\epsilon = 0, \\ &18a_1b_1^2\lambda m\epsilon - 3a_1b_1^2m + 6a_1k^2\lambda m\epsilon - a_1k^2m - 6a_1^3\lambda\epsilon + a_1^3 = 0, \\ &24a_0b_1^2km\epsilon - 24a_0a_1^2k\epsilon = 0, \\ &18a_0b_1^2\lambda m\epsilon - 3a_0b_1^2m - 18a_0a_1^2\lambda\epsilon + +3a_0a_1^2 = 0, \\ &- 18a_0^2b_1\lambda\epsilon + 3a_0^2b_1 - 3b_1k^2\lambda m\epsilon + \frac{1}{2}b_1k^2m - \frac{b_1\lambda^2}{2} - b_1\mu + b_1\lambda^3\epsilon - 6b_1^3\lambda\epsilon + b_1^3 = 0, \\ &12a_0^2b_1km\epsilon - 24a_1^2b_1k\epsilon + b_1 + k\lambda m - b_1km\omega - 3b_1k\lambda^2m\epsilon + 12b_1^3km\epsilon + b_1\lambda^3m^2\epsilon + 4b_1\lambda^3m\epsilon = 0, \\ &- 18a_1^2b_1\lambda\epsilon + 3a_1^2b_1 + 6b_1k^2\lambda m\epsilon - b_1k^2m + 6b_1^3\lambda m\epsilon + b_1^3(-m) = 0, \\ &36a_1^2b_1km\epsilon - 12b_1^3km^2\epsilon - 6b_1\lambda^3m^2\epsilon = 0, \\ &- 24a_0a_1b_1k\epsilon = 0, \\ &6a_0a_1b_1 - 36a_0a_1b_1\lambda\epsilon = 0, \\ &48a_0a_1b_1km\epsilon = 0. \end{aligned}$$

By using *Mathematica* to solve (3.13), the following results are obtained

$$\begin{cases} a_{0} \rightarrow 0, a_{1} \rightarrow \pm \frac{\sqrt{2m}}{12\epsilon}, b_{1} \rightarrow 0, k \rightarrow \frac{1}{6\epsilon}, \omega \rightarrow \frac{m+4}{36\epsilon}, \lambda \rightarrow \frac{1}{6\epsilon}, \mu \rightarrow -\frac{1}{108\epsilon^{2}} \end{cases}, \\ \begin{cases} a_{0} \rightarrow 0, a_{1} \rightarrow 0, b_{1} \rightarrow \pm \frac{i\sqrt{2}}{12\epsilon}, k \rightarrow \frac{1}{6\epsilon}, \omega \rightarrow \frac{m+1}{36\epsilon}, \lambda \rightarrow \frac{1}{6\epsilon}, \mu \rightarrow -\frac{1}{108\epsilon^{2}} \end{cases}, \\ \begin{cases} a_{0} \rightarrow 0, a_{1} \rightarrow \pm \frac{\sqrt{2m}}{24\epsilon}, b_{1} \rightarrow \pm \frac{i\sqrt{2}}{24\epsilon}, k \rightarrow \frac{1}{6\epsilon}, \omega \rightarrow \frac{2m+5}{72\epsilon}, \lambda \rightarrow \frac{1}{6\epsilon}, \mu \rightarrow -\frac{1}{108\epsilon^{2}} \end{cases}, \\ \begin{cases} a_{0} \rightarrow 0, a_{1} \rightarrow \pm \frac{\sqrt{2m}}{24\epsilon}, b_{1} \rightarrow \pm \frac{i\sqrt{2}}{24\epsilon}, k \rightarrow \frac{1}{6\epsilon}, \omega \rightarrow \frac{2m+5}{72\epsilon}, \lambda \rightarrow \frac{1}{6\epsilon}, \mu \rightarrow -\frac{1}{108\epsilon^{2}} \end{cases}, \\ \end{cases} \end{cases}$$

$$\begin{cases} a_{0} \rightarrow 0, a_{1} \rightarrow \pm \frac{\sqrt{2m}}{24\epsilon}, b_{1} \rightarrow \pm \frac{i\sqrt{2}}{24\epsilon}, k \rightarrow \frac{1}{6\epsilon}, \omega \rightarrow \frac{2m+5}{72\epsilon}, \lambda \rightarrow \frac{1}{6\epsilon}, \mu \rightarrow -\frac{1}{108\epsilon^{2}} \end{cases}. \end{cases}$$

$$(3.14)$$

So we obtain the following elliptic traveling wave solutions (double periodic solutions) of EQ. (3.1)

$$u_{(2,1,2)} = \pm \frac{\sqrt{2m}}{12\epsilon} \operatorname{sn}\left(\frac{i}{6\epsilon} \left(x - \frac{(m+4)t^{\alpha}}{36\epsilon\alpha}\right) \middle| m\right) e^{i\left(\frac{x}{6\epsilon} - \frac{t^{\alpha}}{108\epsilon^{2}\alpha}\right)}, \quad (3.15)$$

$$u_{(2,3,4)} = \pm \frac{i\sqrt{2}}{12\epsilon} \operatorname{dn}\left(\frac{i}{6\epsilon} \left(x - \frac{(m+1)t^{\alpha}}{36\epsilon\alpha}\right) \middle| m\right) e^{i\left(\frac{x}{6\epsilon} - \frac{t^{\alpha}}{108\epsilon^{2}\alpha}\right)}, \quad (3.16)$$

$$u_{(2,5,6)} = \begin{cases} \pm \frac{\sqrt{2m}}{24\epsilon} \operatorname{sn}\left(\frac{i}{6\epsilon} \left(x - \frac{(2m+5)t^{\alpha}}{72\epsilon\alpha}\right) \middle| m\right) \\ \pm \frac{i\sqrt{2}}{24\epsilon} \operatorname{dn}\left(\frac{i}{6\epsilon} \left(x - \frac{(2m+5)t^{\alpha}}{72\epsilon\alpha}\right) \middle| m\right) \end{cases} \begin{cases} e^{i\left(\frac{x}{6\epsilon} - \frac{t^{\alpha}}{108\epsilon^{2}\alpha}\right)}, \quad (3.17) \end{cases}$$

$$u_{(2,7,8)} = \begin{cases} \pm \frac{\sqrt{2m}}{24\epsilon} \operatorname{sn}\left(\frac{i}{6\epsilon} \left(x - \frac{(2m+5)t^{\alpha}}{72\epsilon\alpha}\right) \middle| m\right) \\ \mp \frac{i\sqrt{2}}{24\epsilon} \operatorname{dn}\left(\frac{i}{6\epsilon} \left(x - \frac{(2m+5)t^{\alpha}}{72\epsilon\alpha}\right) \middle| m\right) \end{cases} \begin{cases} e^{i\left(\frac{x}{6\epsilon} - \frac{t^{\alpha}}{108\epsilon^{2}\alpha}\right)}. \end{cases} (3.18) \end{cases}$$

In particular, if $m \to 1$, then we get the hyperbolic function solutions (solitary wave solutions) of Eq.(3.1)

$$u_{(2,1,2)} = \pm \frac{\sqrt{2}}{12\epsilon} \tanh\left(\frac{i}{6\epsilon} \left(x - \frac{5t^{\alpha}}{36\epsilon\alpha}\right)\right) e^{i\left(\frac{x}{6\epsilon} - \frac{t^{\alpha}}{108\epsilon^{2}\alpha}\right)},\tag{3.19}$$

$$u_{(2,3,4)} = \pm \frac{i\sqrt{2}}{12\epsilon} \operatorname{sech}\left(\frac{i}{6\epsilon} \left(x - \frac{t^{\alpha}}{18\epsilon\alpha}\right)\right) e^{i\left(\frac{x}{6\epsilon} - \frac{t^{\alpha}}{108\epsilon^{2}\alpha}\right)}, \quad (3.20)$$

$$u_{(2,5,6)} = \begin{cases} \pm \frac{\sqrt{2}}{24\epsilon} \tanh\left(\frac{i}{6\epsilon}\left(x - \frac{7t^{\alpha}}{72\epsilon\alpha}\right)\right) \\ \pm \frac{i\sqrt{2}}{24\epsilon} \operatorname{sech}\left(\frac{i}{6\epsilon}\left(x - \frac{7t^{\alpha}}{72\epsilon\alpha}\right)\right) \end{cases} e^{i\left(\frac{x}{6\epsilon} - \frac{t^{\alpha}}{108\epsilon^{2}\alpha}\right)}, \quad (3.21)$$

$$u_{(2,7,8)} = \begin{cases} \pm \frac{\sqrt{2}}{24\epsilon} \tanh\left(\frac{i}{6\epsilon}\left(x - \frac{7t^{\alpha}}{72\epsilon\alpha}\right)\right) \\ \mp \frac{i\sqrt{2}}{24\epsilon} \operatorname{sech}\left(\frac{i}{6\epsilon}\left(x - \frac{7t^{\alpha}}{72\epsilon\alpha}\right)\right) \end{cases} \end{cases} e^{i\left(\frac{x}{6\epsilon} - \frac{t^{\alpha}}{108\epsilon^{2}\alpha}\right)}.$$
(3.22)

3. Using 3rd approach: By inserting the 3rd equation of Eq. (2.6) along with Eq. (2.7) in Eq. (3.1) and equating the coefficient of each power of $\operatorname{cn}(\xi|m)^{\kappa}\operatorname{sn}(\xi|m)^{\ell}$, $\operatorname{dn}(\xi|m)^{\kappa}\operatorname{sn}(\xi|m)^{\ell}$ where $\kappa = 0, 1; \ell = 0, 1, 2, 3...$ to zero, we get a system of algebraic equations in different

$$\begin{aligned} \text{parameters } a_0, a_1, b_1, k, \omega, \lambda, \mu. \\ 24b_1^3 k \epsilon - 12b_1 \lambda^3 \epsilon &= 0, \\ 6a_0 b_1^2 - 36a_0 b_1^2 \lambda \epsilon &= 0, \\ 108a_0 b_1^2 \lambda \epsilon - 72a_0 a_1 b_1 \lambda \epsilon - 18a_0 b_1^2 + 12a_0 a_1 b_1 - a_0 \lambda^2 - 2a_0 \mu + 2a_0 \lambda^3 \epsilon - 12a_0^3 \lambda \epsilon + 2a_0^3 &= 0, \\ - 108a_0 b_1^2 \lambda \epsilon - 72a_0 a_1 b_1 \lambda \epsilon - 18a_0 b_1^2 - 24a_0 a_1 b_1 + 2a_0 \lambda^2 + 4a_0 \mu - 4a_0 \lambda^3 \epsilon \\ + 24a_0^3 \lambda \epsilon - 36a_0 a_1^2 \lambda \epsilon - 4a_0^3 + 6a_0 a_1^2 &= 0, \\ 36a_0 b_1^2 \lambda \epsilon - 72a_0 a_1 b_1 \lambda \epsilon - 6a_0 b_1^2 + 12a_0 a_1 b_1 - a_0 \lambda^2 - 2a_0 \mu + 2a_0 \lambda^3 \epsilon - 12a_0^3 \lambda \epsilon \\ + 36a_0 a_1^2 \lambda \epsilon + 2a_0^3 - 6a_0 a_1^2 &= 0, \\ 12b_1 k^2 \lambda \epsilon - 2b_1 k^2 - 12b_1^3 \lambda \epsilon + 2b_1^3 &= 0, \\ - 36a_1 b_1^2 \lambda \epsilon - 36a_0^2 b_1 \lambda \epsilon + 6a_1 b_1^2 + 6a_0^2 b_1 - 6b_1 k^2 \lambda m \epsilon + b_1 k^2 m - 24b_1 k^2 \lambda \epsilon - b_1 \lambda^2 + 4b_1 k^2 \\ - 2b_1 \mu + 2b_1 \lambda^3 \epsilon + 36a_0^2 b_1 \lambda \epsilon - 6b_1^3 &= 0, \\ 72a_1 b_1^2 \lambda \epsilon + 72a_0^2 b_1 \lambda \epsilon - 36a_1^2 b_1 \lambda \epsilon - 12a_1 b_1^2 - 12a_0^2 b_1 + 6a_1^2 b_1 - 6a_1 k^2 \lambda m \epsilon + a_1 k^2 m + 12a_1 k^2 \lambda \epsilon \\ - a_1 \lambda^2 - 2a_1 k^2 - 2a_1 \mu + 2a_1 \lambda^3 \epsilon - 36a_0^2 a_1 \lambda \epsilon + 6a_0^2 a_1 + 12b_1 k^2 \lambda m \epsilon - 2b_1 k^2 m \\ + 12b_1 k^3 \lambda \epsilon + 32a_0^2 b_1 \lambda \epsilon + 36a_1^2 b_1 \lambda \epsilon + 6a_1 b_1^2 + 6a_0^2 b_1 - 6a_1^2 b_1 - 6a_1 k^2 \lambda m \epsilon + a_1 \lambda^2 m \\ + 2a_1 \lambda^3 \epsilon - 12a_1^3 \lambda \epsilon + 36a_0^2 a_1 \lambda \epsilon + 6a_1 b_1^2 + 6a_0^2 b_1 - 6a_1^2 b_1 - 6a_1 k^2 \lambda m \epsilon + a_1 \lambda^2 + 2a_1 \mu \\ - 2a_1 \lambda^3 \epsilon - 12a_1^3 \lambda \epsilon + 36a_0^2 a_1 \lambda \epsilon + 2a_1^3 - 6a_0^2 a_1 - 6b_1 k^2 \lambda m \epsilon + b_1 k^2 m - b_1 \lambda^2 \\ - 2b_1 \mu + 2b_1 \lambda^3 \epsilon + 12b_1^3 \lambda \epsilon - 2b_1 a_0 \\ - 36a_1 b_1^2 \lambda \epsilon - 48a_0^2 b_1 k \epsilon + 2a_1 \lambda \delta - 6b_1 k \lambda^2 \epsilon - 72b_1^3 k \epsilon + 2a_0^3 a_1 k \epsilon - 2a_1 \lambda^3 \epsilon = 0, \\ - 48a_1 b_1^2 k \epsilon - 48a_0^2 b_1 k \epsilon + 24a_1^2 b_1 k \epsilon - 2a_1 k \lambda + 2a_1 k \omega + 6a_1 k \lambda^2 \epsilon - 24a_0^3 a_1 k \epsilon - 2a_1 \lambda^3 m \epsilon \\ + 4a_1 \lambda^3 \epsilon - 4b_1 k \lambda + 4b_1 k \omega + 12b_1 k \lambda^2 \epsilon + 72b_1^3 k \epsilon - 4b_1 \lambda^3 m \epsilon - 8b_1 \lambda^3 \epsilon = 0, \\ 24a_1 b_1^2 k \epsilon + 24a_0^2 b_1 k \epsilon + 24a_1^2 b_1 k \epsilon + 2a_1 k \omega - 6b_1 k \lambda^2 \epsilon - 24b_1^3 k \epsilon + 24a_0^2 a_1 k \epsilon \\ - 10a_1 \lambda^3 m \epsilon + 8a_1 \lambda^3 \epsilon + 2b_1 k \lambda - 2b_1 k \omega - 6b_1 k \lambda^2 \epsilon - 24b_1^3 k \epsilon + 2b_1 \lambda^3 m \epsilon + 8b_1 \lambda^3 \epsilon = 0, \\ 48a_0 b_1^2 k$$

The resulting system of algebraic equations has been solved by *Mathematica* to obtain the values of the unknown parameters $a_0, a_1, b_1, k, \omega, \lambda, \mu$.

$$\begin{cases} a_{0} \rightarrow 0, a_{1} \rightarrow \pm \frac{\sqrt{2(1-m)}}{12\epsilon}, b_{1} \rightarrow 0, k \rightarrow \frac{1}{6\epsilon}, \omega \rightarrow \frac{m+1}{36\epsilon}, \lambda \rightarrow \frac{1}{6\epsilon}, \mu \rightarrow -\frac{1}{108\epsilon^{2}} \end{cases}, \\ \begin{cases} a_{0} \rightarrow 0, a_{1} \rightarrow 0, b_{1} \rightarrow \pm \frac{\sqrt{2}}{12\epsilon}, k \rightarrow \frac{1}{6\epsilon}, \omega \rightarrow \frac{m+1}{36\epsilon}, \lambda \rightarrow \frac{1}{6\epsilon}, \mu \rightarrow -\frac{1}{108\epsilon^{2}} \end{cases}, \\ \begin{cases} a_{0} \rightarrow 0, a_{1} \rightarrow \pm \frac{\sqrt{2(1-m)}}{12\epsilon}, b_{1} \rightarrow \pm \frac{\sqrt{2}}{12\epsilon}, k \rightarrow \frac{1}{6\epsilon}, \omega \rightarrow \frac{m+6\sqrt{1-m}+1}{36\epsilon}, \lambda \rightarrow \frac{1}{6\epsilon}, \mu \rightarrow -\frac{1}{108\epsilon^{2}} \end{cases}, \\ \begin{cases} a_{0} \rightarrow 0, a_{1} \rightarrow \pm \frac{\sqrt{2(1-m)}}{12\epsilon}, b_{1} \rightarrow \pm \frac{\sqrt{2}}{12\epsilon}, k \rightarrow \frac{1}{6\epsilon}, \omega \rightarrow \frac{m-6\sqrt{1-m}+1}{36\epsilon}, \lambda \rightarrow \frac{1}{6\epsilon}, \mu \rightarrow -\frac{1}{108\epsilon^{2}} \end{cases}, \end{cases}$$

$$\begin{cases} a_{0} \rightarrow 0, a_{1} \rightarrow \pm \frac{\sqrt{2(1-m)}}{12\epsilon}, b_{1} \rightarrow \pm \frac{\sqrt{2}}{12\epsilon}, k \rightarrow \frac{1}{6\epsilon}, \omega \rightarrow \frac{m-6\sqrt{1-m}+1}{36\epsilon}, \lambda \rightarrow \frac{1}{6\epsilon}, \mu \rightarrow -\frac{1}{108\epsilon^{2}} \end{cases}. \end{cases}$$

$$(3.24)$$

Finally, new elliptic tryeling wave solutions (double periodic solutions) for the nonlinear Eq. (3.1) are reached.

$$u_{(3,1,2)} = \pm \frac{\sqrt{2(1-m)}}{12\epsilon} \operatorname{sc}\left(\frac{i}{6\epsilon} \left(x - \frac{(m+1)t^{\alpha}}{36\epsilon\alpha}\right) \middle| m\right) e^{i\left(\frac{x}{6\epsilon} - \frac{t^{\alpha}}{108\epsilon^{2}\alpha}\right)}, \quad (3.25)$$

$$u_{(3,3,4)} = \pm \frac{\sqrt{2}}{12\epsilon} \operatorname{cs}\left(\left.\frac{i}{6\epsilon} \left(x - \frac{(m+1)t^{\alpha}}{36\epsilon\alpha}\right)\right| m\right) e^{i\left(\frac{x}{6\epsilon} - \frac{t^{\alpha}}{108\epsilon^{2}\alpha}\right)},\tag{3.26}$$

$$u_{(3,5,6)} = \begin{cases} \pm \frac{\sqrt{2(1-m)}}{12\epsilon} \operatorname{sc}\left(\frac{i}{6\epsilon} \left(x - \frac{(m+6\sqrt{1-m}+1)t^{\alpha}}{36\epsilon\alpha}\right) \middle| m\right) \\ \pm \frac{\sqrt{2}}{12\epsilon} \operatorname{cs}\left(\frac{i}{6\epsilon} \left(x - \frac{(m+6\sqrt{1-m}+1)t^{\alpha}}{36\epsilon\alpha}\right) \middle| m\right) \end{cases} \begin{cases} e^{i\left(\frac{x}{6\epsilon} - \frac{t^{\alpha}}{108\epsilon^{2}\alpha}\right)}, \end{cases} \end{cases}$$
(3.27)

$$u_{(3,7,8)} = \begin{cases} \pm \frac{\sqrt{2(1-m)}}{12\epsilon} \operatorname{sc}\left(\frac{i}{6\epsilon} \left(x - \frac{(m-6\sqrt{1-m}+1)t^{\alpha}}{36\epsilon\alpha}\right) \middle| m\right) \\ \mp \frac{\sqrt{2}}{12\epsilon} \operatorname{cs}\left(\frac{i}{6\epsilon} \left(x - \frac{(m-6\sqrt{1-m}+1)t^{\alpha}}{36\epsilon\alpha}\right) \middle| m\right) \end{cases} \begin{cases} e^{i\left(\frac{x}{6\epsilon} - \frac{t^{\alpha}}{108\epsilon^{2}\alpha}\right)}. \end{cases}$$
(3.28)

In particular, if $m \to 0$, then we get the trigonometric function solutions (periodic solutions) of Eq.(3.1)

$$u_{(3,1,2)} = \pm \frac{\sqrt{2}}{12\epsilon} \tan\left(\frac{i}{6\epsilon} \left(x - \frac{t^{\alpha}}{36\epsilon\alpha}\right)\right) e^{i\left(\frac{x}{6\epsilon} - \frac{t^{\alpha}}{108\epsilon^{2}\alpha}\right)},\tag{3.29}$$

$$u_{(3,3,4)} = \pm \frac{\sqrt{2}}{12\epsilon} \cot\left(\frac{i}{6\epsilon} \left(x - \frac{t^{\alpha}}{36\epsilon\alpha}\right)\right) e^{i\left(\frac{x}{6\epsilon} - \frac{t^{\alpha}}{108\epsilon^{2}\alpha}\right)},\tag{3.30}$$

$$u_{(3,5,6)} = \begin{cases} \pm \frac{\sqrt{2}}{12\epsilon} \tan\left(\frac{i}{6\epsilon} \left(x - \frac{7t^{\alpha}}{36\epsilon\alpha}\right)\right) \\ \pm \frac{\sqrt{2}}{12\epsilon} \cot\left(\frac{i}{6\epsilon} \left(x - \frac{7t^{\alpha}}{36\epsilon\alpha}\right)\right) \end{cases} \end{cases} e^{i\left(\frac{x}{6\epsilon} - \frac{t^{\alpha}}{108\epsilon^{2}\alpha}\right)}, \tag{3.31}$$

$$u_{(3,7,8)} = \begin{cases} \pm \frac{\sqrt{2}}{12\epsilon} \tan\left(\frac{i}{6\epsilon} \left(x + \frac{5t^{\alpha}}{36\epsilon\alpha}\right)\right) \\ \mp \frac{\sqrt{2}}{12\epsilon} \cot\left(\frac{i}{6\epsilon} \left(x + \frac{5t^{\alpha}}{36\epsilon\alpha}\right)\right) \end{cases} \end{cases} e^{i\left(\frac{x}{6\epsilon} - \frac{t^{\alpha}}{108\epsilon^{2}\alpha}\right)}.$$
(3.32)

4. Using 4th approach: following the steps indicated above we get the following system of algebraic equations

$$\begin{aligned} 24b_1^3k\epsilon - 12b_1\lambda^3\epsilon &= 0, \\ 6a_0b_1^2 - 36a_0b_1^2\lambda\epsilon &= 0, \\ - 18a_0b_1^2m^4 + 108a_0b_1^2\lambda m\epsilon - 72a_0a_1b_1\lambda\epsilon + 12a_0a_1b_1 \\ - a_0\lambda^2 - 2a_0\mu + 2a_0\lambda^3\epsilon - 12a_0^3\lambda\epsilon + 2a_0^3 &= 0, \\ - 108a_0b_1^2\lambda m^2\epsilon + 18a_0b_1^2m^2 + 144a_0a_1b_1\lambda m\epsilon - 24a_0a_1b_1m + 2a_0\lambda^2m + 4a_0\mu m \\ - 4a_0\lambda^3m\epsilon + 24a_0^3\lambda m\epsilon - 4a_0^3m - 36a_0a_1^2\lambda\epsilon + 6a_0a_1^2 &= 0, \\ 36a_0b_1^2\lambda m^3\epsilon - 6a_0b_1^2m^3 - 72a_0a_1b_1\lambda m^2\epsilon + 12a_0a_1b_1m^2 - a_0\lambda^2m^2 - 2a_0\mu m^2 + 2a_0\lambda^3m^2\epsilon \\ - 12a_0^3\lambda m^2\epsilon + 2a_0^3m^2 + 36a_0a_1^2\lambda m\epsilon - 6a_0a_1^2m &= 0, \\ 12b_1k^2\lambda\epsilon - 2b_1k^2 - 12b_1^3\lambda\epsilon + 2b_1^3 &= 0, \\ - 48a_1b_1^2km\epsilon - 48a_0^2b_1km\epsilon - 24a_1^2b_1k\epsilon - 2a_1k\lambda + 2a_1k\omega + 6a_1k\lambda^2\epsilon - 24a_0^2a_1k\epsilon + 4a_1\lambda^3m\epsilon \\ - 2a_1\lambda^3\epsilon + 72b_1^3km^2\epsilon - 4b_1k\lambda m + 4b_1km\omega + 12b_1k\lambda^2m\epsilon - 28b_1\lambda^3m\epsilon - 4b_1\lambda^3\epsilon &= 0, \\ 24a_1b_1^2k\epsilon + 24a_0^2b_1k\epsilon + 2b_1k\lambda - 72b_1^3km\epsilon - 2b_1k\omega - 6b_1k\lambda^2\epsilon + 32b_1\lambda^3m\epsilon + 2b_1\lambda^3\epsilon &= 0, \\ 24a_1b_1^2km^2\epsilon + 24a_0^2b_1km^2\epsilon + 2a_1k\lambda m - 2a_1km\omega - 6a_1k\lambda^2m\epsilon - 24a_1^3k\epsilon + 8a_1\lambda^3m^2\epsilon \\ - 10a_1\lambda^3m\epsilon - 24b_1^3km^3\epsilon + 2b_1k\lambda m^2 - 2b_1km^2\omega - 6b_1k\lambda^2m^2\epsilon + 8b_1\lambda^3m^3\epsilon + 2b_1\lambda^3m^2\epsilon = 0, \\ - 36a_1b_1^2\lambda\epsilon - 36a_0^2b_1\lambda\epsilon + 6a_1b_1^2 + 6a_0^2b_1 - 24b_1k^2\lambdam\epsilon + 4b_1k^2m - 6b_1k^2\lambda\epsilon - b_1\lambda^2 + b_1k^2 \\ - 2b_1\mu + 36b_1^3\lambda m\epsilon - 6b_1^3m + 2b_1\lambda^3\epsilon = 0, \\ 72a_1b_1^2\lambda m\epsilon - 72a_0^2b_1\lambda m\epsilon - 12a_1b_1^2m - 12a_0^2b_1m - 36a_1^2b_1\lambda\epsilon + 6a_1^2b_1 + 12a_1k^2\lambda m\epsilon - 2a_1k^2m\epsilon \\ - 6a_1k^2\lambda\epsilon - a_1\lambda^2 + a_1k^2 - 2a_1\mu + 2a_1\lambda^3\epsilon - 36a_0^2a_1\lambda\epsilon + 6a_0^2a_1 + 12b_1k^2\lambda m^2\epsilon - 2b_1k^2m\epsilon \\ + 12b_1k^2\lambda m\epsilon - 2b_1k^2m - 36a_1^2\lambda m^2\epsilon + 6a_1b_1^2m^2 + 6a_0^2b_1m^2 + 36a_1^2b_1\lambda m\epsilon - 6a_1^2b_1m - 6a_1k^2\lambda m\epsilon \\ + a_1k^2m + a_1\lambda^2m + 2a_1\mu m - 2a_1\lambda^3m\epsilon + 36a_0^2a_1\lambda m\epsilon - 6a_0^2a_1m - 12a_1^3\lambda\epsilon + 2a_1^3 \\ - 6b_1k^2\lambda m^2\epsilon - 4b_1k^2m^2 + 12b_1^3\lambda m^3\epsilon - 2b_1^3m^3 - b_1\lambda^2m^2 - 2b_1\mu m^2 + 2b_1\lambda^3m^2\epsilon = 0, \\ 48a_0b_1^2km\epsilon =$$

Solving the system with the help of ${\it Mathematica}$, we get

$$\left\{a_{0} \to 0, a_{1} \to \pm \frac{\sqrt{m-1}\sqrt{2m}}{12\epsilon}, b_{1} \to 0, k \to \frac{1}{6\epsilon}, \omega \to \frac{4-2m}{36\epsilon}, \lambda \to \frac{1}{6\epsilon}, \mu \to -\frac{1}{108\epsilon^{2}}\right\}, \\
\left\{a_{0} \to 0, a_{1} \to 0, b_{1} \to \pm \frac{\sqrt{2}}{12\epsilon}, k \to \frac{1}{6\epsilon}, \omega \to \frac{4-2m}{36\epsilon}, \lambda \to \frac{1}{6\epsilon}, \mu \to -\frac{1}{108\epsilon^{2}}\right\}$$
(3.34)

$$\begin{cases}
a_{0} \rightarrow 0, a_{1} \rightarrow \pm \frac{m - \sqrt{2m(5m-4)}}{24\epsilon}, b_{1} \rightarrow \mp \frac{\sqrt{2}}{12\epsilon}, k \rightarrow \frac{1}{6\epsilon}, \\
\omega \rightarrow \frac{-5m+3\sqrt{m(5m-4)+4}}{36\epsilon}, \lambda \rightarrow \frac{1}{6\epsilon}, \mu \rightarrow -\frac{1}{108\epsilon^{2}}
\end{cases},
a_{0} \rightarrow 0, a_{1} \rightarrow \pm \frac{m + \sqrt{2m(5m-4)}}{24\epsilon}, b_{1} \rightarrow \mp \frac{\sqrt{2}}{12\epsilon}, k \rightarrow \frac{1}{6\epsilon}, \\
\omega \rightarrow \frac{-5m-3\sqrt{m(5m-4)+4}}{36\epsilon}, \lambda \rightarrow \frac{1}{6\epsilon}, \mu \rightarrow -\frac{1}{108\epsilon^{2}}
\end{cases},$$
(3.35)

So the following elliptic traveling wave solutions (double periodic solutions) of EQ. (3.1) are obtained

$$u_{(4,1,2)} = \pm \frac{\sqrt{m-1}\sqrt{2m}}{12\epsilon} \operatorname{sd}\left(\frac{i}{6\epsilon} \left(x - \frac{(4-2m)t^{\alpha}}{36\epsilon\alpha}\right) \middle| m\right) e^{i\left(\frac{x}{6\epsilon} - \frac{t^{\alpha}}{108\epsilon^{2}\alpha}\right)}, \quad (3.36)$$

$$u_{(4,3,4)} = \pm \frac{\sqrt{2}}{12\epsilon} \mathrm{ds}\left(\left.\frac{i}{6\epsilon} \left(x - \frac{(4-2m)t^{\alpha}}{36\epsilon\alpha}\right)\right|m\right) e^{i\left(\frac{x}{6\epsilon} - \frac{t^{\alpha}}{108\epsilon^{2}\alpha}\right)},\tag{3.37}$$

$$u_{(4,5,6)} = \begin{cases} \pm \frac{m - \sqrt{m(5m-4)}}{12\sqrt{2\epsilon}} \operatorname{sd}\left(\frac{i}{6\epsilon} \left(x - \frac{(-5m+3\sqrt{m(5m-4)}+4)t^{\alpha}}{36\epsilon\alpha}\right) \middle| m\right) \\ \mp \frac{\sqrt{2}}{12\epsilon} \operatorname{ds}\left(\frac{i}{6\epsilon} \left(x - \frac{(-5m+3\sqrt{m(5m-4)}+4)t^{\alpha}}{36\epsilon\alpha}\right) \middle| m\right) \\ \end{cases} \begin{cases} e^{i\left(\frac{x}{6\epsilon} - \frac{t^{\alpha}}{108\epsilon^{2}\alpha}\right)}, \\ (3.38) \end{cases}$$

$$u_{(4,7,8)} = \begin{cases} \pm \frac{m + \sqrt{m(5m-4)}}{12\sqrt{2\epsilon}} \operatorname{sd}\left(\frac{i}{6\epsilon} \left(x - \frac{(-5m-3\sqrt{m(5m-4)}+4)t^{\alpha}}{36\epsilon\alpha}\right) \middle| m\right) \\ \mp \frac{\sqrt{2}}{12\epsilon} \operatorname{ds}\left(\frac{i}{6\epsilon} \left(x - \frac{(-5m-3\sqrt{m(5m-4)}+4)t^{\alpha}}{36\epsilon\alpha}\right) \middle| m\right) \\ \end{cases} \begin{cases} e^{i\left(\frac{x}{6\epsilon} - \frac{t^{\alpha}}{108\epsilon^{2}\alpha}\right)} \\ (3.39) \end{cases}$$

In particular, if $m \to 0,$ then we get the trigonometric function solutions (periodic solutions) of Eq.(3.1)

$$u_{(4,3,4)} = \pm \frac{\sqrt{2}}{12\epsilon} \csc\left(\frac{i}{6\epsilon} \left(x - \frac{t^{\alpha}}{9\alpha\epsilon}\right)\right) e^{i\left(\frac{x}{6\epsilon} - \frac{t^{\alpha}}{\alpha(108\epsilon^2)}\right)},\tag{3.40}$$

and, if $m \to 1,$ then we get the hyperbolic function solutions (solitary wave solutions) of Eq.(3.1)

$$u_{(4,3,4)} = \pm \frac{\sqrt{2}}{12\epsilon} \operatorname{csch}\left(\frac{i}{6\epsilon} \left(x - \frac{t^{\alpha}}{18\alpha\epsilon}\right)\right) e^{i\left(\frac{x}{6\epsilon} - \frac{t^{\alpha}}{\alpha(108\epsilon^2)}\right)}$$
(3.41)

$$u_{(4,7,8)} = \pm \frac{\sqrt{2}}{12\epsilon} \sinh\left(\frac{i}{6\epsilon}\left(x + \frac{t^{\alpha}}{9\alpha\epsilon}\right)\right) \mp \frac{\sqrt{2}}{12\epsilon} \operatorname{csch}\left(\frac{i}{6\epsilon}\left(x + \frac{t^{\alpha}}{9\alpha\epsilon}\right)\right).$$
(3.42)

Remark 2. We have verified all solutions obtained by substituting them in the equation under study (3.1) and found to be correct.

4 Conclusion

In the present work, the extended Jacobi elliptic function expansion method has been proposed. By implementing procedure of the method on the Conformable Time-fractional Sasa-Satsuma equation, we have shown that the solutions obtained by the extended technique is more and various than the classical Jacobi elliptic function expansion methods. Therefore, the method plays an important role to seek more doubly periodic solutions, solitary wave solutions and trigonometric (periodic) solutions of other nonlinear evolution equations in mathematical physics. We have also studied the accuracy, the geometrical construction and the behavior of some particular solutions by plotting their surfaces and contour plots as shown in figures below. Since the solutions are complex functions, by choosing values for the parameters $(m, \epsilon \text{ and } \alpha)$, we plot graphics of modulus, imaginary part and real part of these special solutions.

Acknowledgments

The authors would like to thank the anonymous referees and the handling editor for their careful reading and for relevant remarks/suggestions to improve the paper.

References

- T. Abdeljawad, On conformable fractional calulus, Journal of Computational and Applied Mathematics, 279, 57-66, (2015).
- [2] A. Bekir, Ö. Güner, and A. C. Cevikel, Fractional Complex Transform and exp-Function Methods for Fractional Differential Equations, Abstract and Applied Analysis Volume 2013, Article ID 426462, 8 pages.
- [3] Y. Cenesiz, O. Tasbozan, A. Kurt, Functional Variable Method for conformable fractional modified KdV-ZK equation and Maccari system, Tbilisi Math. J. 10 (1): 117-125 (Jan 2017).
- [4] S. T. Demiray, Y. Pandirb and H. Bulut, New soliton solutions for Sasa-Satsuma equation, Waves in Random and Complex Media, 25 (3): 417-428 (2015) http://dx.doi.org/10.1080/17455030.2015.1042945.
- [5] M. Djilali and A. Hakem, Solving Some Important Nonlinear Time-Fractional Evolution Equations By Using the (G'/G)-Expansion Method, Journal of Science and Arts, 53 4, 815-832, 2020.
- [6] M. Djilali and A. Hakem, (G'/G)-expansion method to seek traveling wave solutions for some Fractional Nonlinear PDEs arising in natural sciences, Advances in the Theory of Nonlinear Analysis and its Applications, 7 (2023) No. 2, 303-318.
- [7] M. Djilali and A. Hakem and A. Benali, Exact Solutions of Kupershmidt Equation, Aproximate Solutions For Time-Fractional Kupershmidt Equation: A Comparison Study, International Journal of Analysis and Applications, Volume 18, Number 3 (2020), 493-512.
- [8] M. Djilali and A. Hakem and A. Benali, A Comparison Between Analytical and Numerical Solutions for Time-Fractional Coupled Dispersive Long-Wave Equations, Fundamentals of Contemporary Mathematical Sciences (2021) 2(1) 8-29.

- [9] Y. C, Enesiz and A. Kurt, New Fractional Complex Transform for Conformable Fractional Partial Differential Equations, Journal of Applied Mathematics, Statistics and Informatics, 12 (2),3102-3110, (2016).
- [10] Q. Feng, A new approach for seeking coefficient function solutions of conformable fractional partial differential equations based on the Jacobi elliptic equation, Chinese Journal of Physics, 56(6), 2817-2828, (2018).
- [11] [11] C. Gilson, J. Hietarinta, J. Nimmo and Y. Ohta, Sasa-Satsuma higher-order nonlinear Schrödinger equation and its bilinearization and multisoliton solutions, Phys. Rev. E, 68, 016614 (2003).
- [12] S. Ghosh, Stable complex solitary waves of Sasa-Satsuma equation PRAMANA-journal of physics, Vol. 57, Nos 5 & 6 (2001) pp. 981-985.
- [13] K. Hosseini, A. Bekir abd R. Ansari, Exact solutions of nonlinear conformable time-fractional Boussinesq equations using the $\exp(-\Phi(\xi))$ -expansion method, Opt Quant Electron, **49**:131, (2017).
- [14] K. Hosseini, P. Mayeli and R. Ansari, Modified Kudryashov method for solving the conformable time-fractional Klein-Gordon equations with quadratic and cubic nonlinearities, Optik - International Journal for Light and Electron Optics, 130, 737-742, (2017).
- [15] M. M.A. Khater, A. R. Seadawy and D. Lu, Dispersive optical soliton solutions for higher order nonlinear Sasa-Satsuma equation in mono mode fibers via new auxiliary equation method, Superlattices and Microstructures (2017), doi: 10.1016/j.spmi.2017.11.011.
- [16] A.A. Kilbas, H.M. Srivastava, J.J. Trujillo, Theory and Applications of Fractional Differential Equations, Elsevier, 2006.
- [17] R.Khalil, M.Al Horani, A.Yousef and M.Sababheh, A new definition of fractional derivative, Journal of Computational and Applied Mathematics, 264, 65-70, 2014.
- [18] D. Kumar, A. R. Seadawy, A. K. Joardar, Modified Kudryashov method via new exact solutions for some conformable fractional differential equations arising in mathematical biology, Chinese Journal of Physics, Volume 56, Issue 1, 2018, Pages 75-85.
- [19] L. Liu, B. Tian, H.P. Chai, and Y.g. Yuan, Certain bright soliton interactions of the Sasa-Satsuma equation in a monomode optical fiber, Phys. Rev. E 95, 032202 (2017).
- [20] labelA38 H. Rezazadeh, New complex hyperbolic and trigonometric solutions for the generalized conformable fractional Gardner equation, Modern Physics Letters B Vol. 33, No. 17 (2019) 1950196 (15 pages).
- [21] H. Rezazadeh, S. Mehdi, New optical solitons of nonlinear conformable fractional Schrödinger-Hirota equation, Optik, Volume 172, November 2018, Pages 545-553.
- [22] F. Sun, Optical solutions of Sasa-Satsuma equation in optical fibers, Optik International Journal for Light and Electron Optics, 228 (2021) 166127.
- [23] I. Podlubny, Fractional Differential Equations, Academic Press, 1999.
- [24] B. A. Tayyan, A. H. Sakka, Lie symmetry analysis of some conformable fractional partial differential equations, Arab. J. Math, 9, 201-212 (2020).

- [25] O. Tasbozan, Y. Cenesiz, and A. Kurt, New solutions for conformable fractional Boussinesq and combined KdV-mKdV equations using Jacobi elliptic function expansion method, Eur. Phys. J. Plus, 131:244 (2016).
- [26] O.C. Wright, Sasa-Satsuma equation, unstable plane waves and heteroclinic connections, Chaos, Solitons and Fractals 33 (2007) 374-387.
- [27] T. Xu, D. Wang, M. Li, and H. Liang, Soliton and breather solutions of Sasa-Satsuma equation via the Darboux transformation, Physica Scripta, 89 (2014) 075207 (7pp).
- [28] T. Xu, M. Li and L. Li, Anti-dark and Mexican-hat solitons in the Sasa-Satsuma equation on the continuous wave background, A Letters Journal Exploring The Frontiers of Physics, EPL, 109 (2015) 30006, doi: 10.1209/0295-5075/109/30006.
- [29] J. Xu, E. Fan, The unified transform method for the Sasa-Satsuma equation on the half-line, Proc R Soc A, (2013) 469: 20130068.
- [30] Z. Yan, The extended Jacobian elliptic function expansion method and its application in the generalized Hirota-Satsuma coupled KdV system, Chaos, Solitons and Fractals, 15 (2003) 575-583.
- [31] Y.Yildirim, Optical solitons to Sasa-Satsuma model with modified simple equation approach, Optik - International Journal for Light and Electron Optics, 184 (2019) 271-276.
- [32] Y.Yildirim, Optical solitons to Sasa-Satsuma model with trial equation approach, Optik -International Journal for Light and Electron Optics, 184 (2019) 70-74.
- [33] W. Zhang , X. Ling , B.B Wang, and S. Li, Solitary and Periodic Wave Solutions of Sasa-Satsuma Equation and Their Relationship with Hamilton Energy, Complexity, Volume 2020, Article ID 8760179, 17 pages https://doi.org/10.1155/2020/8760179.
- [34] C. L. Zheng and J. F. Ye, Exact Solutions and Complex Wave Excitations of Generalized Sasa-Satsuma System in (2+1)-Dimensions, 2International Journal of Modern Physics B Vol. 23, No. 19 (2009) 3931-3938.
- [35] L. C. Zhao, S. C. Li, and L. Ling, Rational W-shaped solitons on a continuous-wave background in the Sasa-Satsuma equation, Phys. Rev. E 89, 023210 (2014).
- [36] E. H. M. Zahran, M. M. A. Khater, Exact Traveling Wave Solutions for the System of Shallow Water Wave Equations and Modified Liouville Equation Using Extended Jacobian Elliptic Function Expansion Method, American Journal of Computational Mathematics, 2014, 4, 455-463.

Medjahed Djilali Department of Mathematics, Faculty of Science and Technology, University of Relizane, 48000 Relizane, Algeria.

E-mail: medjahed48djilali@gmail.com

Khellaf Ould Melha Department of Mathematics, Faculty of Exact Sciences and Informatics, Hassiba Benbouali University, 02180, Ouled Fares, Chlef, Algeria.

E-mail: k.ouldmelha@univ-chlef.dz

Vaijanath Laxmanrao Chinchane Department of Mathematics, Deogiri Institute of Engineering and Management, Studies Aurangabad-431005, INDIA.

E-mail: chinchane85@gmail.com



Figure 1: 3DPlot and ContourPlot of the exact solutions of Eq. (3.1) given by (3.7), for $(x,t) \in [-10, 10] \times [0, 10]$.



Figure 2: 3DPlot and ContourPlot of the exact solutions of Eq. (3.1) given by (3.8), for $(x,t) \in [-10, 10] \times [0, 10]$.



(e) $Abs[u_{(2,5)}(x,t)]$ $(m = 0.25, \epsilon = 0.1, \alpha = 1)$

Figure 3: 3DPlot and ContourPlot of the exact solutions of Eq. (3.1) given by (3.15), (3.16) and (3.17) respectively, for $(x,t) \in [-5,5] \times [0,10]$ and $(x,t) \in [-10,10] \times [0,10]$ respectively.



Figure 4: 3DPlot of the exact solutions of Eq. (3.1) given by (3.28) respectively, for $(x,t) \in [-5,10] \times [0,10]$.



Figure 5: 3DPlot of the exact solutions of Eq. (3.1) given by (3.29) and (3.30) respectively, for $(x,t) \in [-10, 10] \times [0, 10]$.



Figure 6: 3DPlot of the exact solutions of Eq. (3.1) given by (3.38) , for $(x,t) \in [-8,8] \times [0,8]$.



Figure 7: 3DPlot of the exact solutions of Eq. (3.1) given by (3.42) respectively, for $(x,t) \in [-5,5] \times [0,5]$ and $(x,t) \in [-8,8] \times [0,8]$ respectively.